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QUESTION NO: 1
Which of the following descriptions is false? ()

A. The layer 3 switch implements the fast search by using the accurate address match method.
B. The layer 3 switch implements the fast search by using the longest address mask match
method.

C. The routing interface and the port of the router is one-to-one relationship, while the routing
interface and the port of the layer 3 switch is one-to-multi relationship.

D. The operation of designating the routing interface to the VLAN is to assign an IP address, a
subnet mask and a MAC address to the VLAN. After these assignments (MAC address needs not
to be configured manually), the VLAN virtual interface becomes a routing interface.

Answer: B

QUESTION NO: 2
Which of the following descriptions of full-duplex Ethernet are true? ()

A. Full-duplex Ethernet can only send data simultaneously and is applied in the point-to-multipoint
connection.

B. Full-duplex Ethernet can send and receive data simultaneously and is applied in the point-to-
point connection.

C. Full-duplex Ethernet can only receive data simultaneously and is applied in the point-to-point
connection.

D. Full-duplex Ethernet can send and receive data simultaneously and is applied to the point to
multipoint connection.

Answer: B

QUESTION NO: 3
The rapid spanning tree can perform all the functions of the spanning tree. ()

A. True
B. False

Answer: A

QUESTION NO: 4




Which of the following commands can be used to check all the ACL configurations?( )

A. display ip access-list all
B. display access-list link
C. display access-list all
D. display acl config all

Answer: D

QUESTION NO: 5

Which of the following items correctly describes the relationship between layer 3 switching and
router? ()

A. Layer 3 switching and router implement the logically same functions.

B. The traditional router realizes search and forwarding via the software running on micro
processor.

C. Like a router, the routing forwarding table of the layer 3 switching is the same as that of the
router. It needs to be created and maintained by the software via the routing protocol.

D. Layer 3 switching realizes search and forwarding via hardware

Answer: A,B,C,D

QUESTION NO: 6
The commonly used Ethernet types are: ()

A. Shared Ethernet
B. Fast Ethernet

C. Gigabit Ethernet
D. Virtual Ethernet
E. Standard Ethernet

Answer: B,C,E

QUESTION NO: 7

The MAC address of the switch 1 is 00-e0-fc-00-00-10 and its priority is the default value 32768.
And the MAC address of the switch 2 is 00-e0-fc-00-10-00 and its priority is 4096. All the priorities
of all the ports are the default values. The path costs of both the two links are 200. Which is the
blocked port? ()
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A. Port 2-switch 1
B. Port 1-switch 1
C. Port 2-switch 2
D. Port 1-switch 2

Answer: A

QUESTION NO: 8

If setting the name of Huawei Quidway S3526 to be switch3526, which of the following commands
should be used?

A. set prompt switch3526
B. sysname switch3526
C. sys name switch3526
D. file prompt switch3526

Answer: B

QUESTION NO: 9
The fundamental reason for the broadcast storm is: ()

A. A faulty switch may broadcast all the packets.

B. When the loop exists, the broadcast packet received by the port may aggregate to generate the
broadcast storm.

C. The overly large quantity of sites may generate overly large quantity of broadcast packet.

D. The generation of a large quantity of ARP packets




